M:thin English Brain Teasers level 4 #16

Which option completes this pattern ?
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puzzle2 puzzle3
What is the missing number Which number completes
in this puzzle ? the pattern ?
32 31 D | 6
6 | )
IR 3
v g H | 3
5 | 48 L | 2
50 86 F | 9
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Which number completes this number sequence ?

5 6 8 ?
6 7] |6 10| 5 919
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Answer to brain teasers

puzzlel: A
The circles follow a +1 sequence, starting with 20 in the 1st circle

and 25 is the missing circle.

puzzle2: 3
Multiply the digits of the numbers to get the inner circle.

puzzle 3 : 4
The product of each row is 24.

puzzle4: 9
The pyramids follow a +2, +3 and +4 pattern starting with

a sum of 18 in the 1st.
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